Received by IURC 6/5/12-BD



June 5, 2012 Via Web Filing

Ms. Brandy Darlington, Tariff Administrator Indiana Utility Regulatory Commission 101 West Washington Street Suite 1500 E Indianapolis, IN 46204

 RE: US Xchange LLC d/b/a EarthLink Business - IURC Tariff No. 3 Transitional Intrastate Access Services
30 Day Filing (Pursuant to 171 IAC 1-6) and Explanation of Compliance with FCC Requirements

Dear Ms. Darlington:

Enclosed for filing please find the above referenced thirty day access tariff revision filing submitted on behalf of US XChange of Indiana LLC d/b/a EarthLink Business. This filing is made under the Thirty-Day Administrative Filing Procedure (170 IAC 1-6-5). The purpose of this filing is to reduce intrastate terminating access rates to comply with the Federal Communications Commission Report and Order in WC Docket No. 10-90, etc., FCC No. 11-161 (released Nov 18, 2011) ("FCC Order"). Pursuant to Section 3 (5) (6) this process was specified in the letter of instruction sent to all carriers. Direct customer notice is attached to this filing. Additionally, the Company will provide notice via publication, to be in compliance with the Commission requirements. The Company respectfully requests an effective date for this filing of July 1, 2012. The following tariff pages are included with this filing:

13th Revised Page 2 7th Revised Page 2.1 1st Revised Page 108 Original Page 108.1 Updates Check Sheet Updates Check Sheet Reduces Rates; Moves text Reduces Rates; Moves text

Any questions you may have regarding this filing should be directed to my attention at 407-740-3001 or via email to tforte@tminc.com. Thank you for your assistance in this matter.

Sincerely,

Thomas M. Forte Consultant to US Xchange LLC

cc: Mary Whiting (via Email) - EarthLink - US Exchange

- file: EarthLink US Exchange Indiana Access
- tms: INa1203

Enclosures TF/mp



7037 Old Madison Pike Huntsville, AL 35806

May 31, 2012

RE: Indiana Tariff Filing to Implement the Requirements of the FCC's USF/ICC Order

To Whom It May Concern:

On June 1, 2012, EarthLink Business will file revisions to its Intrastate Access Service Tariff with the Indiana Utility Regulatory Commission ("IURC"), with a proposed effective date of July 1, 2012. This filing reflects implementation of the Transitional Intrastate Access Service reductions required by the FCC's USF/ICC Order. The affected rates, referred to by the FCC as "Transitional Intrastate Access Service," include the following components: terminating End Office Access Service, terminating Tandem-Switched Transport Access Service, and originating and terminating Dedicated Transport Access Service. Objections to this filing may be submitted to the Secretary of the IURC or to the Office of Utility Consumer Counselor at National City Center, 101 West Washington Street, Suite 1500 East, Indianapolis, IN 46204. This notice covers the following entity:

• US Xchange of Indiana, LLC d/b/a EarthLink Business

If you have any questions, please contact EarthLink Business at 616-988-7224.

Very truly yours,

CABS Billing Team EarthLink Business US XCHANGE OF INDIANA, L.L.C. d/b/a EarthLink Business

I.U.R.C. Tariff No. 3

(T)

Thirteenth Revised Page 2 Cancels Twelfth Revised Page 2

ACCESS SERVICE

CHECK SHEET

The pages of this tariff are effective as of the date shown. The original and revised sheets named below contain all changes from the original tariff and are in effect on the date shown.

<u>Sheet</u>	Revision	<u>Sheet</u>	Revision	<u>Sheet</u>	Revision	<u>Sheet</u>	Revision
1	2 nd Revised	26	Original	53	Original	80	Original
1.1	1 st Revised	27	Original	54	Original	81	Original
2	13 th Revised*	28	Original	55	Original	81.1	Original
2.1	7 th Revised*	29	Original	56	Original	82	Original
3	1 st Revised	30	Original	57	Original	83	Original
4	4 th Revised	31	Original	58	Original	83.1	Original
5	Original	32	1 st Revised	59	Original	83.2	Original
6	Original	33	1 st Revised	60	Original	83.3	Original
7	Original	34	2 nd Revised	61	Original	83.4	Original
8	Original	35	1 st Revised	62	1 st Revised	83.5	Original
9	Original	36	Original	63	Original	83.6	Original
10	Original	37	1 st Revised	64	Original	83.7	Original
11	Original	38	Original	65	Original	83.8	Original
12	Original	39	Original	66	Original	84	Original
13	Original	40	Original	67	Original	85	Original
14	Original	41	Original	68	Original	86	Original
15	Original	42	Original	69	Original	87	Original
16	Original	43	Original	70	Original	88	Original
17	Original	44	Original	71	Original	89	Original
18	Original	45	Original	72	Original	90	Original
19	Original	46	Original	73	Original	91	Original
20	Original	47	Original	74	Original	92	Original
21	Original	48	Original	75	Original		
22	Original	49	Original	76	Original		
23	Original	50	Original	77	Original		
24	Original	51	Original	78	Original		
25	Original	52	Original	79	Original		

*New or Revised

Issued by:

Vice President, Tax 1375 Peachtree Street, Level A Atlanta, GA 30309 Effective:

US XCHANGE OF INDIANA, L.L.C. d/b/a EarthLink Business

I.U.R.C. Tariff No. 3

Seventh Revised Page 2.1 (T)

Cancels Sixth Revised Page 2.1

ACCESS SERVICE

CHECK SHEET

The pages of this tariff are effective as of the date shown. The original and revised sheets named below contain all changes from the original tariff and are in effect on the date shown.

Sheet 93 94 95 96 97 98 99 100 101 102 103 104 105 106 107 108 107 108 107 108 107 108 107 108 107 110 111 112 112.1 112.2 112.3 112.4 113	Revision Original	Sheet 116 117 118 119 120	Revision Original Original Original 1 st Revised	Sheet	Revision	Sheet	Revision
---	--	--	---	-------	----------	-------	----------

* New or Revised

Vice President, Tax 1375 Peachtree Street, Level A Atlanta, GA 30309

I.U.R.C. Tariff No. 3 US XCHANGE OF INDIANA, L.L.C. First Revised Page 108 d/b/a EarthLink Business **(T) Cancels Original Page 108** ACCESS SERVICE SWITCHED ACCESS RATES AND CHARGES (Cont'd) 6.1 Switched Access Service (Cont'd) 6.1.2 Switched Transport 5. Tandem Switched Transport - Originating **(T)** Per Access Minute Tandem Transport Fixed \$0.000262 _ Tandem Transport Per Mile \$0.001291 **Tandem Switching** \$0.005601 6. Tandem Switched Transport - Terminating (C) Tandem transport Tandem transport Tandem (M,C) Per Minute, Per Mile Area Per Mile Switching Non-One Communications (M,C) Switch – AT&T Area \$0.0001835 \$0.0006525 \$0.0033605 (R,C) \$0.0007455 \$0.0040005 Switch - Frontier Area \$0.0001310 \$0.0001835 \$0.0006525 \$0.0033605 BMTPIN01DS0 EKHTIN01RS0 \$0.0001310 \$0.0007455 \$0.0040005 FTWYIN06DS0 \$0.0001310 \$0.0007455 \$0.0040005 \$0.0034566 IPLWIN75DS2 \$0.0001757 \$0.0006516 KNTPIN01DS0 \$0.0001835 \$0.0006525 \$0.0033605 \$0.0006525 \$0.0033605 MSHWINDQDS0 \$0.0001835 (R,C)

Material originally found on this page is now on page108.1.

US XCHANGE OF INDIANA, L.L.C. d/b/a EarthLink Business

I.U.R.C. Tariff No. 3 Original Page 108.1

(M)

ACCESS SERVICE

SWITCHED ACCESS RATES AND CHARGES (Cont'd)

6.1 <u>Switched Access Service</u> (Cont'd)

6.1.3 End Office

1.	Local Switching - Originating Per Access Minute	\$0.032785	 (M,T) (M)
2.	Local Switching - Terminating-	per access minute	(C)
	Area Non-One Communications Switch – AT & T Area Switch - Frontier Area BMTPIN01DS0 EKHTIN01RS0 FTWYIN06DS0 IPLWIN75DS2 KNTPIN01DS0 MSHWINDQDS0	Local Switching \$0.01795050 \$0.01779700 \$0.01795050 \$0.01779700 \$0.01779700 \$0.01787345 \$0.01795050 \$0.01795050	(R,C)
			(R,C)

Material found on this page was originally on page 108.

Received by IURC 6/5/12-BD30-day Filing ID # 3022Calculations Worksheet for Transitional Intrastate Access Service, as defined in 47 C.F.R. 51.903(j)

Company Name: US Xchange of Indiana, LLC d/b/a EarthLink Business

Terminating Switched Access Service (Transitional Intrastate Access Service)

Current Intrastate Rates

Intrastate Rate Elements in Effect on Dec. 29, 2011	Intrastate Rate	Oct. 2010 - Sept. 2011 Intrastate Demand	Revenue
Local Switching - AT&T area	0.0327850	1,457,123	\$47,772
Local Switching - Frontier area	0.0327850	1,125,544	\$36,901
Local Switching - Other	0.0327850	1,733,469	\$56,832
Tandem Switched Term - AT&T	0.0002620	1,437,322	\$377
Tandem Switched Term - Fron.	0.0002620	1,121,164	\$294
Tandem Switched Term - Other	0.0002620	1,568,745	\$411
Tandem Switched Fac AT&T	0.0012910	1,437,322	\$1,856
Tandem Switched Fac Fron.	0.0012910	1,121,164	\$1,447
Tandem Switched Fac Other	0.0012910	1,568,745	\$2,025
Tandem Swithcing - AT&T	0.0056010	19,878	\$111
Tandem Swithcing - Fron.	0.0056010	4,578	\$26
Tandem Swithcing - Other	0.0056010	170,144	\$953
			\$0
		Total	\$149,004

Interstate Rates Applied to Intrastate Usage

Interstate Rate Elements in		Oct. 2010 - Sept. 2011		
Effect on Dec. 29, 2011	Interstate Rate	Intrastate Demand	Revenue	
Local Switching - AT&T area	0.0031160	1,457,123	\$4,540	
Local Switching - Frontier area	0.0028090	1,125,544	\$3,162	
Local Switching - US Xchange	0.0029619	1,733,469	\$5,134	
Tandem Switched Term - AT&T	0.0001050	1,437,322	\$151	
Tandem Switched Term - Fron.	0.0000000	1,121,164	\$0	
Tandem Switched Term - Other	0.0000000	1,568,745	\$0	
Tandem Switched Fac AT&T	0.0000140	1,437,322	\$20	
Tandem Switched Fac Fron.	0.0002000	1,121,164	\$224	
Tandem Switched Fac Other	0.0000000	1,568,745	\$0	
Tandem Swithcing - AT&T	0.0011200	19,878	\$22	
Tandem Swithcing - Fron.	0.0024000	4,578	\$11	
Tandem Swithcing - Other	0.0000000	170,144	\$0	
			\$0	Revenue Differential
		Total	\$13,265	\$135,739
Step 1 Access Revenue Reduction	\$67,870			

Received by IURC 6/5/12-BD30-day Filing ID # 3022Calculations Worksheet for Transitional Intrastate Access Service, as defined in 47 C.F.R. 51.903(j) **Proposed Intrastate Rates effective July 1, 2012**

Intrastate Rate Elements in	Proposed	Oct. 2010 - Sept. 2011		
Effect on Dec. 29, 2011	Intrastate Rate	Intrastate Demand	Revenue	
Local Switching - AT&T area	0.01795050	1,457,123	\$26,156	
Local Switching - Frontier area	0.01779700	1,125,544	\$20,031	
Local Switching - US Xchange	0.01787345	1,733,469	\$30,983	
Tandem Switched Term - AT&I	0.00018350	1,437,322	\$264	
Tandem Switched Term - Fron.	0.00013100	1,121,164	\$147	
Tandem Switched Term - Other	0.00013100	1,568,745	\$206	
Tandem Switched Fac AT&T	0.00065250	1,437,322	\$938	
Tandem Switched Fac Fron.	0.00074550	1,121,164	\$836	
Tandem Switched Fac Other	0.00064550	1,568,745	\$1,013	
Tandem Swithcing - AT&T	0.00336050	19,878	\$67	
Tandem Swithcing - Fron.	0.00400050	4,578	\$18	
Tandem Swithcing - Other	0.00280050	170,144	\$476	
_			\$0	Revenue Chang
		Total	\$81,134	-\$67,870

\$81,134